GENERAL NOTES:

1. STORM FANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH
THE 2018 EDITIONS OF THE INTERNATIONAL BUILDING CODE (1.B.C.) AND INTERNATIONAL RESIDENTIAL CODE. (L.R.C.).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE, FOR A BASIC WIND SPEED

AS REQUIRED 8Y THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND FOR A DIRECTIONALITY FACTOR Kd=0.85, IN
ACCORDANCE W/ ASCE 7-18 STANDARD,

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-16 SHALL BE FIRST REDUCED TO
A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE W/ MAX. (A.5.D.) DESIGN PRESSURE RATINGS
INDICATED ON SHEETS 4 THRU 8.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN
ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS BEEN DETERMINED
IN ACCORDANCE WITH N.D.S. 2018.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1608.2 OF THE
INTERNATIONAL BUILDING CODE (1.B.C.). AS PER ATL REPORTS § 0121.01-98R, # 0329.01-00, §0512.01—03 AND 0617.01-04 AS PER
MISSILE TYPE D IMPACT TESTING EQUIVALENT TO ASTM E-1996 STANDARD & ASTM E 330 STANDARD, LIMITED TO INSTALLATIONS WITHIN
WIND ZONES 1, 2 & 3, BASIC PROTECTION AS DEFINED BY ASTM E—1996 STANDARD.,

2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A-653, GRADE 40, WITH G-60 GALVANIZED STEEL
DESIGNATION.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSQCIATION 6063-T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED.
STORM PANEL COMPONENTS STUDDED PLATE AND SNAP CAP ARE PATENT PENDING. ALL ALUMINUM EXTRUSIONS IN CONTACT WITH
DISSIMILAR MATERIALS SHALL COMPLY WITH SECTION lli-6 OF THE 2015 ALUMINUM DESIGN MANUAL.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES AND MEET ASTM A167, OR HOT DIPPED GALVANIZED (AFTER FABRICATION)
CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED GALVANIZED OR GALVANNEALED (PRIOR TO FABRICATION) AND MEET
ASTM A653 WITH 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.
6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE:

— 1/4” # TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.
1/4” # CF TAP-GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION.
1/4" # ZAMAC NAILIN ANCHORS AS MANUFACTURED BY DEWALT, INC.

1/47 # x 7/8” CALK—IN ANCHORS OR ELCO male & female “PANELMATE” AS MANUFACTURED
BY DEWALT, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.

1/47 # x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.

NOTES:

A.1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/47; FOR ZAMAC NAILIN ANCHORS IS 1 3/8”; FOR
ELCO PANELMATE ANCHORS IS 1 3/4%, AND FOR CF TAP-GRIP ANCHORS IS 1 1/4".

A.2) 7/8” CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO SHALL

BE PERMITTED. 1/4"¢~20 SCREWS USED SHALL BE 1 1/2” LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR
WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/478 x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” $-20 S.S. MACHINE SCREW USED SHALL BE 1 1/2" LONG MINIMUM
SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

A.4) IN CASE THAT PRECAST STONE, FRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOOR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS
INDICATED ON NOTES A.1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
~ 1/47 # TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.
1/4” # CF TAP-GRIP ANCHORS (BERTHA STUD-CON), AS MANUFACTURED BY TRU—FAST CORPORATION.
1/4” # ZAMAC NAILIN ANCHORS AS MANUFACTURED BY DEWALT, INC.
1/4” # x 7/8" CALK—IN ANCHORS OR ELCO male & female “PANELMATE” AS MANUFACTURED
BY DEWALT, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY.
1/47 # x 3/4” ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY.
1/47 # RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED BY RED MEAD.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, AND CF TAP—GRIP ANCHORS INTO CONCRETE BLOCK
UNIT SHALL BE 1 1/4%; 1 3/8" FOR ZAMAC NAILIN ANCHORS AND 1 1/8” FOR RED HEAD DYNABOLT SLEEVE ANCHORS

B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STUCCO

SHALL BE PERMITTED. 1/4"¢-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM
FOR WALLS WITH NO STUCCO.

B.3) MINIMUM EMBEDMENT OF 1/4"# x 3/4” ALL POINTS SOLID~SET ANCHORS SHALL BE 7/8% INTO THE CONCRETE BLOCK. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" #-20 S.S. MACHINE SCREW USED SHALL BE 1 1/2% LONG MINIMUM
SHOULD STUCCO EXIST, AND 17 MINIMUM FOR WALLS WITH NO STUCCO.

B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B. 1) AND
B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON

SECTIONS | THRU 8 (SHEET 2 & 3 OF
8) EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME
BUILDINGS.

9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.

10. (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i.e.
WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D,

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT., CONSTRUCTION
SAFETY AT SITE IS THE CONTRACTOR’S RESPONSIBILITY.

(c) THIS P.E.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE FREPARED BY A PROFESSIONAL ENGINEER OR REGISTERED ARCHITECT WHICH WILL BECOME THE
ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D.

ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
PREPARED IT.

11.  SHUTTER MANUFACTURER’S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH THE

TEXAS DEPARTMENT OF INSURANCE REQUIREMENTS. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.

AN THIS DRAWING SHALL BE USED ONLY TO OBTAIN PERMITS UNDER
SR SR 15 THE TEXAS DEPARTMENT OF INSURANCE JURISDICTION
bv} r‘{’“,:"h‘; zfz
N 3 NG 2{
o et ¥ '.‘- x (:,
& (:)

evcassonbEanaunoassns 8
ssdidbue R ' (
LTERATILLIT, JR. €

sea
erwsvheRREBPOILOIET 0

TEXAS DEPARTMENT OF INSURANCE - 2018

WALTER A. TILLIT Jr. P.E h4 GAGE GALVANIZED BERTHA STEEL STORM PANEL] M.P
PROFESSIONAL ENGINEER (2.25" DEEF) DRAWN BY:
EASTERN METAL SUPPLY, INC 01/21/2021
— 53‘-”5:6,“’\’;‘:‘ é:f? Di’gf?l_ S,;TEjr 63605 4263 WEST ROADS DRIVE | DATE:
/ PHONE (305) 871—1530 FAX (305) 8711531 WES;H:‘:"E:‘ (%?1(;:59"_';22";‘°7
Z D/ 22 Z/ ExaS L) 90691 FAX: (561)841—1718 21-027
XAS LIC. # REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
P.E. SEAL/SIGNATURE/DATE FIRM REGISTRATION # F-13790 ; - = : = —— SHEET 1 OF 8




~!212.5 —J3.891" ——lz:zs f—

———————14.845" (TOTAL WIDTH)
12.000” (EFFECﬂVE WIDTH)

l——r .500"

0
‘$‘L
/\}
1. ZJ
2.250"

FULL PANEL W/ HEMMED EDGES

\ T 4
— 2.125" —3.891"— 2.125" |-

[———4.500"

f—r@ AS APPLICABLE —
(p.) r

15.119" (TOTAL WIDTH) ———

o ——12.000" (EFFECTIVE WIDTH) ——

;.500".

4.500"

e

[————8.845" (TOTAL WIDTH)
- 6.000(EFFECTIVE W/DTH) -

———4.500" —
D ASAPPUCABLE—‘I‘

r 'é‘v.“‘s;"é

.500"

9.119" (TOTAL WIDTH)
—| 6.000"(EFFECTIVE WIDTH) |

——4.500" ——-|
(0 AS APPLICABLE .
(Typ.)

,—-'r.sao'

SCALE : 3/16° = 1*

TOP TRACK
(SEE COMPONENTS)

CONCRETE ANCHORS (SEE SCHEDULE);

I e e — 3*
3 ™y
1 Min. 1 Min.
o (-] -]

-l_ 093"

750/

=i =

)1'_1/4 Max. GAP

— CONCRETE ANCHORS (SEE SCHEDULE)

f— 2.000" —

STORM_PANEL oy
IYPICAL ELEVATION — ~EOTToM Track
NTS (SEE COMPONENTS)

1/4" Mox. GAP—‘ I——

1/4"8 304 SERIES
[SS STUD RVETED TO
ANGLE © SPACINGS

SHOVN ON SECTIONS.
2 |

-—I L—.OQJ"

I—Z.OOO'—-I

@) STUDDED ANGLE

6063-T5 Alum. ALLOY
SCALE : 3/8" = 1"

[T TN N7

SECTION A-A

N T S

1/4°@ 304 SERIES

AOSZ S8.5. STUD RIWETED
7O PLATE

@ 12 oC

750":;

.309"

N |
589 \Ge2" I

12 STUDDED PLATE

6063-T6 ALLOY
SCALE : 3/8" = 1°

'——-2 5607

N Rz R.250"

| fi = [ 1T
5 s “-R.125" ® [ [
o 9 N
- 8 LI
Lo T
[ = || 075" 288

e IERE:
1 - J ‘
S —_ ]

490"

" CL. Min.

094

:l I— 063 "’

— —.050" OR 060"

— |—.093"
DETAIL 1: s1up w/ DIE CAST ZINC
NICKEL PLATED WING NUT
3¢ OF, A}‘}r‘lz
: ‘?‘ . e

| I“Z56‘0.—1
‘ M, M ]

bl
N
g

.5007.500" 748" | :
- 2244"

] 3.000" Max 2.560" |
PN |
ko | 125" ‘ [-125° | —R250"
| - : BT (
- @
5 —H- 125" 1\ R.2007- || R |
~ “R.1257 o N
19 ¥ 9
—|—.075" - :: .?,
.075™ [8 T «
| S
, TS FULL R
2.340"
2.681" ——

£.625°

l—l—v.sso"—.—l
@ "F”_TRACK 2 ANGLE TRACK

SCALE : 3/8° = 1~

SCALE : 3/8" = 1"

~ 83177
a /Q
S
— Ep6e OF (D

(OPTION TO 10)

TEXAS DEPARTMENT OF INSURANCE - 2018

[}

|

|
o
o

0

I

|

]

FULL R
374" %
] By
188 |+ TR 9
. 1 _{_ :

—1.671"
-1.343" J

R. 125" ~"‘—2000 —"Q
_”&mcx_am

SCALE : 3/87 = 1”

Ve n.Ju‘r ]
I i | =
| ] S ———
AN |
¥z |
1 ul
l—J—'

9.625" Ls
—~ 957" .
t = Min. .085"

KEY HOLE WASHER

J105~H154 Alum, ALLOY
SCALE : 3/8° = 1°

PE. SEAL/SIGNATURE/DATE

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871-1530 FAX (305) 871-1531

TEXAS LIC. # 90691

FIRM REGISTRATION # F—13790 |

4 GAGE GALVANIZED BERTHA STEEL STORM PANEL M.P
(2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 01/21/2021
4268 WEST ROADS DRIVE DATE:
WEST PALM am;;bsrl.éz:;.?o7
PHONE: (561)209—
FAX: ((561)841-1716 21-027
REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
2 = 2 Z ——{ SHEET 14 OF 8




TAPCONS, ELCO male/female
PANELMATE, ZAMAC NAILIN,
CALK—IN OR CF TAP—GRIP
ANCHORS. (SEE SCHEDULE FOR\

2
ju)
SPACING). \ ® SPACING). \
\ __L — Sﬁ Lf
— POURED = !
(=]
CONCRETE i i REQU _\ _ N | 8
REQUIRED o . S -~
N\ W ‘ §§ L N
M B
‘ , —@ Cont. l \_\
N AU RN
AN NN WY
| | |
, ! 1" MINIMUM ——
|

— 1" MINIMUM —~
SEPARATION TO
GLASS OF WINDOW
OR 5. G. D.

LA V3 Vs
A /"//,I V4 //,-'://

Max. PANEL LENGTH (SEE SCHEDULE)

TAPCONS, ELCO male/female
PANELMATE, ZAMAC NAILIN,
CALK—-IN OR CF TAP—GRIP \
ANCHORS. (SEE SCHEDULE FOR\

SEPARATION TO
| GLASS OF WINDOW
OR 5. G. D.

L
===

4

1/47 8-20 x 3/4"
80LTS W/ 7/8" x |
3/32" WING NUT @
72" 0. . —

g
S / /1,

T
i

Max. PANEL LENGTH (SEE SCHEDULE) —

TAPCONS, ELCO male/female

TAPCONS, ELCO male/female \

SEPARATION TO

SEPARATION TO GLASS

PANELMATE, ZAMAC NAILIN, \ PANELMATE, ZAMAC NAILI, O .
CALK—IN OR CF TAP-GRIP | M | CALK—IN OR CF TAP~GRIP . Q
ANCHORS. (SEE SCHEDULE FOR\ S ANCHORS. (SEE SCHEDULE FOR “._ ]
SPACING). b SPACING). N )
__L —— i ﬁ@ Cont.
s |
\ { POURED N : L A
Concrere N— REQUIRED - - \ | *
REOUIRED\ & h | J < ( N :' \ :% §
X N | | & & | S
N . Cor*t. . ) \L R
NN \}\\ NN : I ' \ O \\-\ \l\-\ ( '
‘ ] & ' ]
I ‘ I o
| || |
| | | |
.{}v | ?l:}.\' Lﬂﬂ\‘ |
—_— | L
1" MINMUM ——] J . 17 MINIMUM l

GLASS OF WINDOW
OR S. G. D.

FINISHED WALL —,

o
POURED —/ lu 7 | : l POURED e 0
CONCRETE S SAERETE l
. y OR CONCRETE
OR CONCRETE / S BLOCK WALL
BLOCK WALL | T REQUIRED \ I
REQUIRED 1 == g ! I o — :)
= I Cont.
P
. | . }
< Al " TAPCONS, RED HEAD DYNABOLT ./, R
TAPCONS, RED HEAD DYNABOLT (BLOCK ONLY), ELCO male/female/ S
(BLOCK ONLY), ELCO male/female PANELMATE, ZAMAC NAILIN, / 3
PANELMATE, ZAMAC NAILIN, 4 9) Cont. CALK~IN OR CF TAP—GRIP :
CALK—IN OR CF TAP—GRIP ANCHORS. (SEE SCHEDULE FOR
ANCHORS. (SEE SCHEDULE FOR SPACING).
. R WALL MOUNTING INSTALLATION
A o ALL MO LA
¥
[ ] &
| ’ § SECTION 2 SCALE : 3/8"
S el foed 3
@ ¢
| :
7 4 L.h"_,
L || s
> =
()
S | | o w3 &
i A = 127 0. ¢ o E D. = EDGE DISTANCE
ZA / = (SEE SCHEDULE ON
/ & Q SHEETS 5 & 6 OF 8)
POURED 4 ] X
CONCRETE ﬁé I 8
OR CONCRETE g | l
BLOCK WALL 7
REQUIRED ,;’

OF WINDOW OR S. 6. D. f

‘ 1/47 9-20 x 3/4"

BoLTs w/ 7/8% x
3/32" WING NUT "o '
12" 0. ¢

= Moax. PANEL LENGTH (SEE SCHEDULE)-

w/ secoy |\
N\ |
s / 7 P
SN S
s
T/ T 7
POURED Q| | 2 [
CONCRETE N
OR CONCRETE | Q
BLOCK WALL -
REQUIRED l {
=Pt
TAPCONS, RED HEAD DYNABOLT | AN
(BLOCK ONLY), ELCO male/female , /.

PANELMATE, ZAMAC NAILIN, /
CALK—IN OR CF TAP—GRIP

ANCHORS. (SEE SCHEDULE FOR
SPACING).

l 1/4” =20 x T ‘/ , '
3/4" BOLTS W/ / ; LSS
| 7787 x 3732 v |
WING NUT © 7
12" 0. C.
Soer I/I _/ Q ¢
CONCRETE h A %
l OR CONCRETE s l
BLOCK WALL 1' :
| | |\ REQUIRED . — 7 i ‘
=uf : ) Cont.

TAPCONS, RED HEAD DYNABOLT

A —@ Cont.

(BLOCK ONLY), ELCO male/female
PANELMATE, ZAMAC NAILIN,
CALK—=IN OR CF TAP—GRIP

Max. PANEL LENGTH (SEE SCHEDULE)

ANCHORS. (SEE SCHEDULE FOR

SPACING).

WALL MOUNTING INSTALLATION

= 1*

SECTION 3

sarePmRBIPEERETETLEIEINTRINES

LTER ATILLIT, JR.

PPV NIBSOEBFOIISETPSUSEFATS

SCALE : 3/8" = 1*

BUILD OUT INSTALLATION

SECTION 4

SCALE : 3/8" = 1

TEXAS DEPARTMENT OF INSURANCE - 2018

SECTION @ STUD

WALL MOUNTING INSTALLATION

NOTE FOR COMBINATION OF SECTIONS :

SCALE : 3/8" = 1~

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

C-.."‘

12 0,<~ ;“/Oensﬁo -

oA

SECTION 1

NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR
WALL MOUNTING INSTALLATION — SECTION 2 (TOP)

i

90691 qsy;

P.E. SEAL/SIGNATURE/DATE

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871-1531

TEXAS LIC. # 90691

24 GAGE GALVANIZED BERTHA STEEL STORM PANEL M.P
(2.25" DEEP) DRAWN BY:
EASTERN METAL SUPPLY, INC 01/21/2021

4268 WEST ROADS DRIVE DATE:

WEST PALM BEACH, FL. 33407
: (561)209-826.

PH&’:Z ((561))841—17163 21-027
REV, No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No

FIRM REGISTRATION # F-13790

= - 3 -

- - 4 -

SHEET 2 OF 8




TAPCONS, ELCO male/female
PANELMATE OR CALK—IN ANCHORS

(SEE SCHEDULE FOR SPACING).

POURED CONCRETE \ |
REQUIRE] T
_\ I"|—

(———E.

.*
ORI

T
|

ALTERNATE
LEG LOCATION

|
l
!
l
1/4" 2-20 x :
|
|
l
I
!
|

3/4" BOLTS w/
7/8" ¢ x 3/32" |
WING NUT & A

Ky - / o
127 0. €. —— | ( J
|
|
— 1
|
77 MINIMUM |
~——— SEPARATION T0 — —'“l

GLASS

1/4" 6-20 x 3/4”
BOLTS W/ 7/a/¢ x |
3/32" WING NUT
@ 12 0. C

@

ALTERNATE
LEG LOCATION 7

_ ol

TAPCONS, ELCO male/female
PANELMATE OR CALK~IN ANCHORS
(SEE SCHEDULE FOR SPACING).

HAL S IA LT S .{/ /j/J/// 7
—1"-H| |
11 11 j/
/ §

LE ULE. 0.74
; A

- E D.-
POURED CONCRETE %

REQUIRED

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 5

SCALE : 3/8" = 1"

E D. = EDGE DISTANCE
(SEE SCHEDULE ON

SHEET 5 & 6 OF 8)

Max. PANEL LENGTH (SEE SCHEDULE)-

i

TAPCONS, ELCO male/fernale
PANELMATE OR CALK—IN ANCHORS

TAPCONS, ELCO moale/female

PANELMATE OR CALK—IN ANCHORS

(SEE SCHEDULE FOR SPACING).

POURED CONCRETE

REQUIRED —__
SOOI
‘ Ic :
l | [
| |
‘ |
)
| |
! ¥
’ &3
Ly
o
| | , J
| {}v | | E
| - W I T T E
[ ! I ~
i )
1" MiNmoM | b g
SEPARATION T0 —| I g
GLASS | [ | N
| L $
I : b 7/8" ¢ x 3/32" |
| | | wine nuT @
| | 12" 0. C.
| {1
, Cont.
I
| - i
[ | ST E—
,-’/ /////":' P //. -/r’( // )

(SEE SCHEDULE FOR SPACING).

POURED CONCRETE

REQUIRED

/[

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 6

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

SCALE : 3/8" = 1"

TAPCONS, ELCO moale/female

PANELMATE OR CALK—IN ANCHORS

CALK—IN ALL POINTS SOLID-SET OR

7/8" 8 WING NUT ONLY
APPLICABLE AT MALE

ELCO male/fernale PANELMATE : ==
'SEE SCHEDULE FOR SPACING). /
¢ 4 £ D, AW @ 1/4°0~20 SIDEWALK BOLT OR @ N PANELMATE (TYP.)
N W/1/4°0-20 TRUSSHEAD BOLT *
E D SEE SCHEDULE FOR SPACING, 7 == ]
2 SN ]
POURED CONCRETE T R
REOU/RED\ [ 'l N POURED [
=1"H! [H—I"——-]\ ,‘C?‘I;o'ggl,}??i'zt_ N | I
NN \\\\L\\_N\L‘ O OO0 \ N\ | I
T — b & a R b
1 - - %] N I
lALTERM?Z' ' o ‘ . [
LEG LOCATION 'l : . [
NN N %
N s
: 1 R
» /" | T
1/4_ #-20 x | I | ~
3/4° BOLTS W/ | I I 9
[7/8‘ ¢ x 3/32" I o I Lo 2
WiNG e /] . S I 9
. C. z
, . @ @ l f Lo b
l (I ] l o &
[ Ly
| 5 L w | AL L \d
| o 8 | L] T &
' A\ 1 1° MINMUM | L 9
s N— —— £ ’——SEPARATION o~ L §
L 17 MINIMUM | | I z GLASS 2
SEPARATION TO —] 3 | (I g
| 6LASS | b o ' I F3
| . 3 | Lo .
| I < | ; I g
I [ 8 I
| | I = | | I
1/4° -20 x —._ | oo S, [
3/4” BOLTS W/ ™ I P
7/8" o x 3/32" I I I i
WING NUT © . L
127 0. C.
’ I POURED _/ P
| | CONCRETE [y '
OR CONCRETE
= — : - BLOCK WALL Lo
S A AR T 7Y, REQUIRED ﬂ [
1"l 7 A o s ! }
TAPCONS, ELCO male/female | / CALK—IN ALL POINTS SOLID-SET OR.~ / L
PANELMATE OR CALK—=IN ,4/\10,:-/0;;)5/l . ELCo male/fe:nale PANELMATE /] =
(SEE SCHEDULE FOR SPACING). / @ 1/478-20 SIDEWALK BOLT OR @ /]
s W/1/4°9-20 TRUSSHEAD BOLT *
—Leo - SEE SCHEDULE FOR SPACING)
POURED CONCRETE /
REQUIRED

CEILING & FLOOR MOUNTING

INSTALLATION — SECTION 7

SCALE : 3/8° = 1"

WALL MOUNTING INSTALLATION (D. M.)

— SECTION 8

SCALE : 3/8" = 1”

*

SIDE WALK BOLTS ARE 3/4 "HXJ/JZ"THICK
HEAD MACHINE SCREW W/LENGTH

AS PER NOTES A2 & B.2 (SHEET 1)

*

AN . "
SR, U I BB AT Bl
‘;‘Mn;\ :‘,.,,.',..,“g,tg 22? AS PER NOTES A.2 & B.2 (SHEET 1)
:C: "." ....(5) 1?
= i .0 I. * 2
~ % . 2,
7, Y % 7
fJ * - l‘i-'ﬂ‘lﬂﬂz
(d...-..--qlot-voovt’c".tct ﬁ
“ WALTER ATILLIT, JR. ¢
el LA I At il A~ TEXAS DEPARTMENT OF INSURANCE - 2018
'.;, ‘9?'-. 1 .-'g o~ WALTER A. TILLIT Jr. P.E 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL MP
- PROFESSIONAL ENGINEER T (;'Z_T_AEEE;) 55Ty TN DRAww Br:
A N E U R C 01/21/2021
"o GizOENS, . 35165 WS e FONDS TRME 2
PHONE (305) 871—1530 FAX (305) 871—1531 PHONE: ((55,))269_5253 21-027
FAX: (561)841-1718
TEXAS LiC. § 90691 REV. No DESCRIPTION DATE | ReV. No DESCRIPTION DATE DRAWING No
P.E. SEAL/SIGNATURE/DATE FIRM REGISTRATION # F—13790 ; = = : = —{ SHEET 3 OF 8




~,
CUT PANEL .

2" x 4" x 125"

J105-H14 OR

Cont. Alum. ANGLE

6063-T6 ALLOY .~

CASE A (Plan)

SCALE: 1/4" = 1"

POURED CONCRETE
OR CONCRETE

BLOCK WALL

REQUIRED

CONCRETE
ANCHORS

12 0. ¢

1.000"—=—

2" x 2” x .055" TO |

2% x 5" x 055" _-~

Cont. Alum.

OR .080" 3105—-H154
SHEET METAL Alum.

BENT PLATE

= |

ANGLE

CASE C (Plan)

SCALE: 1/4” = 1

2" x 3" x .093"
3105 H—~14 OR
6063~T6 ALLOY =
Cont. Alum. ANGLE .
WITH ANCHORS

@ 12° 0. ¢

CASE D (Plan)

SCALE: 1/4" = 1"

/ POURED CONCRETE
& / CONCRETE BLOCK WALL

REQUIRED

CONCRETE ANCHORS
@ 127 0. C

> 1/4" GAP

POURED CONCRETE
OR

CONCRETE BLOCK WALL

REQUIRED

-

e

.| VARIES 3:
Max.

CASE B (Plan)

1/4" 8 BOLT
@ 2¢” 0. C.
W/ JACKNUT

|
|
| R Max. P/Lw?}t )LENGTH
AS.D. DESIGN "
| e RE AT 24 GAGE STEEL
| —— : ) or (psit) MOUNTING W/0_| MOUNTING W/ | MOUNTING W/
"h” HEADER (2)| *h* HEADER (2)| comp. (2 & @3
+35.0, —40.0 9’'-8” 9’-8" 9'-8”
+40.0, —45.0 g9’-2" g9'-2" a9’-2"
+45.0, -50.0 8'~9” 8'-9” 8'-9”
+50.0, —55.0 8'—4” 8’4" 8'—4”
+60.0, -65.0 7'-8" 72" 7'-8"
4" x 4" x 072" +70.0, —80.0 72" 6'-3" 72"
3105-H14 OR 6063-T6 ALLOY

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND
CORRESPONDING MAXIMUM PANEL LENGTH “L” (FL.) SCHEDULE

A 3 LE
Cont. Aum. ANG NOTE: MINIMUM PANEL LENGTH IS 3'—0"

FPOURED CONCRETE

-—1.50 "X "

POURED CONCRETE ——,

OR CONCRETE BLOCK
WALL REQUIRED

ALTERNATE LEG LOCATION

1.000” 1.000"

POURED CONCRETE
R CONCRETE
BLOCK WALL
REQUIRED

N

N

SCALE: 1/4” = 1~

Min.

(REG'D)

X=8.0.
DISTANCE

OR CONCRETE
BLOCK WALL @
CONT.
REQUIRED —_ " (OPEN POSITION +)

TAPCON ANCHORS OR ]
ALL POINT SOLID—SET N
(SEE SCHEDULE FOR SPACING) ¢ K

e — + NOTE: SNAP CAP (I3 T0
V7 1 REMAIN CLOSED AT NOM
7 HURRICANE CONDITIONS.
CONT, I~

__J 17 MINIMUM

SEPARATION |
17 MINIMUM TO GIASS @ CONT.
separamon £ || =
N— P
/'T

7/8% x 3/32"

/

CASE E (Plan)

’ TO GLASS

Max. PANEL LENGTH (SEE SCHEDULE) -

.-'@CONT.
SECTION @ STUD (OPEN FOSITION +)

TYP. TOP/BOTTOM

-!_\- d A '
| ' /: // | | e wi e ea
(2"— || XA ) STUO

/ pourep 7 ™

CONT. J——_ l CONCRETE OR”./ /
' | CONCRETE 7/ s :
sLock waL /& L.
| REQUIRED / - .

TAPCON ANCHORS OR
ALL POINT SOLID-SET

SCALE: 1/4" = 1~

END CLOSURES DETAILS

(SEE SCHEDULE FOR SPAC/NG),/:/’

4
POURED CONCRETE /
ANV OR CONCRETE BLOCK-
a0 £ 1111WALL REQUIRED

(e
T (OPEN POSITION +)
£

ST,
Py o ?2, WALL MOUNTING INSTALLATION
ol O ..c
ZH; 2 %0 SECTION 9
g--‘-:‘-.-.n:‘-vnoovguevtncai:f:jllRt'g SCALE R 3/8" = 1n
g,ALTERAﬂLL’,-nE TEXAS DEPARTMENT OF INSURANCE - 2018
- :
4 o>  IUBYT o & WALTER A. TILLIT Jr. P.E. [4 GAGE cALvmz&oZ:ER;HE:P;TEEL STORM PANEL DRA:/INPBY'
- PROFESSIONAL ENGINEER E - - I .
01/21/2021
6355 N.W. 36 STREET, STE. 305 ASTERN 42M E,.EI;TAI,;OME l,f,!:,f LY, INC DATE:
VIRGINIA GARDENS, FL 33166 WEST PALM BEACH, FL. 33407
PHONE (305) 871~1530 FAX (305) 871-1531 PHONE: (561)209-8263
FAX: (561)841—1718 21-027
TEXAS LIC. # 90691 REV. No DESCRIFTION DATE | REV. No DESCRIPTION DATE DRAWING No
PE. SEAL/SIGNATURE/DATE FIRM REGISTRATION # F-13790 ; - = z - SHEET 4 OF &




THIS SCHEDULE INDICATES REQUIRED ANCHOR
FOR A GIVEN DESIGN LOAD AND PANEL LENGTH.

SPACING

HOWEVER MAXIMUM PANEL LENGTH FOR A GIVEN E. D. = EDGE DISTANCE
DESIGN LOAD MUST BE VERIFIED AS PER SCHEDULE
ON SHEET 4 OF 8.
MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° ++ MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2°
M%%UM /- APPLICABLE TO | Maxmun Mz’g"gf" - /! APPLICABLE 7O | Maxmium
Sy ZAMAC NAILIN/ = — — SECTIONS # & | PANEL . ZAMAC NAILIN, _ o . SECTIONS # & | PANEL
TAPCONS CALK—IN SOLID-SET PANELMATES CF TAP-GRIP TAPCONS CALK—IN SOLID~SET PANELMATES CF TAP—GRIP
ng’ggkf RED_HD._DYNABOLT ANY COMBINATIOM LENGTH P"’g’ggﬁ RED_HD. DYNABOLT : . ANY COMBINATION| LENGTH
10 70 70 70 70 70 o 70 10 70 0 70 OF THEM T (ft) RATING(p.5.1 0 70 70 70 70 0 70 70 70 70 70 70 OF THEM LT ()
RAT]NG(P'S'f' CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE | MASONRY (p -8 ) CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE | MASONRY
12* - 12"+ - 12" - - - 12” - 12 - 1 & 3 (TOP) 12" - 12™+ - 12* - N 12" - 12 - 1 & 3 (ToP)
. . B . R N |
12" 9” 12%+| 12 12 7" 12 12" 12 12" 12 9 172" | 1, 9" (goTTOM) 12* 6" 12%t | 12~ 12* 5" 12” 12” 12" 12" 12" 7’ 1, 9% (BoTTOM)
12” - 12%+ | - 12" - 12 12" 12 - 12* - 2, g*(1op) 12" - 127+ - 12" - 12° | gzt 12" - 12” - 2, g*(rop)
12" 9” 127+ | 127 12* 7" - - 12” 12" 12* |9 1/27| 2 (BorTOM) 127 6" 124+ | 127 12* 5" - - 12° 12” 12° 7 2 (BOTTOM)
+40.0, —45.0| 12* g° 127+ | 127 12” 7" - - 12* 12” 127 |9 1/2°| 3 (BoTTOM) >+40.0-450| 12° 6" 127+ | g2 127 5* - - 12" 12* 12" 7" 3 (BOTTOM)
OR 12* - 12%+| - 12" - - - 12* - 12* - 4 (TOP) 8'-0" 0 127 - 127+ - 12" - - 0 - 12” - 12* - 4 (TOP) &-0"
LESS 12* 9" 12°%+| 1o 12" 7 - - 12" 12" 12 |9 12| 4 (BorTOM) R +50.0-550 | 15 & 12%+| 197 127 5" U 12" 12" 12 7 4 (BOTTOM) O
. 1 .- = _ 5 (TOP/BOTIOM)| LESS . N N 5 (TOP/BOTTOM)| LESS
g - - - 10 - = - 12 - - 7 (T0P) 7 - - - 7 - - | =~ Joae| - - - 7 (T0P)
|
12" - - - 12" - - ~ 12" - - - 6 (ToF) 10" - - - 107 - - - 12" - - - 6 (ToF)
17" - - - 17* - - - 12* - - - & (BOTTOM) 8" - - - 8" . - - 12” - - - 6 (BOTTOM)
10" - - - 11” - - - 12* - - - 7 (BOTTOM) 8" - - - 8" - - ~ 11 o1em| - - - 7 (BOTTOM)
- — - - 12" 8" 12° 12" 12" 12" - - & (TOF/BOTTOM)| - - - - 12”7 - 12* 12° 12" 6" - - h& (TOP/BO7TOM)!
12" - 12%+ | - 12° - - - 12” - 12" - 1 & 3 (T0P) 8" - 7rH - 8" - - - 12* - 512 - 1 & 3 (TOP)
12" 6” 127+ g2* 12* 5" 12" 12" 127 12” 12* |6 1/2" |1, gt (BOTTOM) 12* 5" 71+ 10”7 12* 4 12* 12" 12" |9 1/27 9" 5 1, §*(sorTom)
12" - 127+ = 12" - 12* 12" 12" - 12* - 2, 9*(rop) 127 | - 11+ - 12- - 12* 12" 12" - 9" - 2, 9*(ropP)
12” 6" 127+ | 12 12" 5" - - 12" 12” 12" |6 1/2°| 2 (BOTTOM) 12* 5" 1 107 12" 4" - - 127 |9 12" 9” 5* 2 (BoTTOM)
12” 6" 12%+ | g12” 12” 5" - - 12* 12" 127 |6 1/2”| 3 (8oTTOM) 12* 5" 117+ | 10" 12" 4" - - 12 |9 12| g" 5” 3 (BOTTOM)
+40.0, ~45.0| 12" - 12" - 12" - - - 12" - 12" - 4 (ToP) >8'-0” >+400, —450| 12* - 1%+ — 12" - - - 12® - 9* - 4 (TOP) >8-0"
OR 12 6" 12* 12 12" 5 - - 12" 12" 12” |6 1/2°| 4 (BOTIOM) 0 0 12" 5" 117+ 10" 12* %* - - 127 |9 1727 9 5" 4 (BOTTOM) o
0P /BoTToM)| 98" N R |5 (ror7BoTTOoM)| 98"
LESS 7" - - - 7" - - - 70" - - - r ﬁ? /(/TOP) ° +50.0, =55.0| 5% - - - 5" - - - 7120 - - - r (T7 {TOPST !
10" - - - 10" - - | - 12" - - - 6 (T0P) 8 - - - 7" - - - || - - - 6 (TOP)
8" - - - 8* - - - 11| - - - 6 (50TTOM) 8" - - - 6~ - - - 8 1/2" | - - - & (BOTTOM)
8” - - - 8" - - - 77" - - - 7 (BOTTOM) 6" - - - 6" - - - 8" - - - 7 (BOTTOM)
- - - - 12" - 12* 12* 12" 6" - - B (TOP/BOWOM)] ~ - - - 127 | - 12* 12" 127 | 6" - - |8 (Tor/BOTIOM)
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID—SET
ALLOWED FOR MOUNTING SECTION 9.
FACTOR ++ ANCHORS SPACING ONLY APPLICABLE TO ZAMAC NAILIN Sooe OF 1 £ 112
ACTUAL E. D ANCHORS ,:y?ﬁ’_...--.....'. *4 22
s ZAMAC NAILIN o AV e O A ?3
TAPCON /DYNABOLT CALK—IN SOLID-SET | CF TAP-GRIP | *  SEE SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & ;‘,‘ ('3_." % ?{
/PANELMATES SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS. I=3 % " x ((*,
» —_ 1‘" * 0: seepesaee ""““
3 -86 75 78 1.00 **  MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" rfrsenonarrsenracensrienait T JR .é
2 2 - s o EDGE DISTANCE. g LTER ATILLIT, AR
- - . - . FOR E. D. LESS THAN 3 1/2% REDUCE ANCHOR AU ARSI eat L Tl _
- SPACING BY MULTIPLYING SPACINGS SHOWN ON SCHEDULE BY : : TEXAS DEPARTMENT OF INSURANCE — 2018
2 - .50 - - - THE FOLLOWING FACTORS. ' [u GAGE GALVANIZED BERTHA STEEL STORM PANEL MP
. (Min. E. D. FOR CALK—IN ANCHORS & ELCO PANELMATE IS WALTER A. TILLIT Jr. P.E. (2.25" DEEP) DRAWN BY:
11/2 .35 - - - - 2 1/2%, AND 3 1/2" FOR SOLID-SET ANCHORS). PROFESSIONAL ENGINEER
FOR THIS OPERATION TO BE MADE REDUCED SPACINGS 01/21,/2021
RESULTING FROM APPLYING ABOVE FACTORS SHALL NOT VA 6355 N.W. 36 STREET, STE. 305 EASTERN 42!'3 EIS'TM,;OAg ",;'RRELY' INC GATE:
RESULT ON SPACINGS LESS THAN 3™ FOR ALL ANCHORS u VIRGINIA GARDENS, FL 33166 WEST PALM BEACH, FL. 33407
(EXCEPT +4.5" FOR RED HD. DYNABOLT ANCHORS). //z o2/ PHONE (305) 8711530 FAX (305) 871~1531 PHONE: (561)209-8263
TEXAS LIC. # 90691 gass [FENIA41 118 21-027
- # REV. No DESCRIPTION DATE | REV. o DESCRIPTION DATE DRAWING No
PE. SEAL/SIGNATURE/DATE | FIRM REGISTRATION # F-15790 [ 1 - I = ~ sueer 5 or 8




MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES * £ D = EDGE DISTANCE
MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2° +
AS.D. APPLICABLE TO | MAxmus
DESIGN ZAMAC NAILIN/ SOLID-SET PANELMATES CF TAP-GRIP | SECTIONS # & | PANEL
PRESSURE RED HD._DYNASOLT ANY COMBINATIOM LENGTH
RATING(p..£.) o | 10 0 10 10 10 oF THEM |17 (r)
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
7" - - 12" 6" L 1 & 3 (ToP)
177++|  10” 12* 122 |91/2"| o 5 |1 9% (eorrom) FACTOR
— ACTUAL E. D.
R e g 12" 12" - 9* - 2, 9*(1op) ZAMAC NAILIN
— TAPCON /DYNABOLT CALK—IN SOLID-SET CF TAP-GRIP
117+ 10" - 12" |9 1/2"| 9" 5 2 (BOTTOM) Vdao 21 1123
. 3" - .86 .75 .78 1.00
THIS SCHEDULE INDICATES REQUIRED ANCHOR SPACING | |>4+50.0-55.0 iy .. _ » - " .
Rt 1 v e o P B e = EV4 I vy | = =
DESIGN LOAD MUST BE VERIFIED AS PER SCHEDULE 0 17— - 12" - 9~ - 4 (T0P) OR /- — 71 = - 80
ON SHEET 4 OF 8. B n
+70.0,—-80.0 117++| 70" - 12 |9 1/2" 9” 5" 4 (BOTTOM) | LESS | 2 - .50 B - - -
| m ' |5 (TOF/BOTTOM) 1 1/2" - - - -
- - - 8 - - - 7 (rop) | / ol
- - - |10 12" - - - & (TOP)
- -~ - 9” - - - 6 (BOTTOM)
- - - |s1e| - - - 7 (BOTTOM)
- - 12* 12* 6" - - | (ror/Borrom)|
MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" ++ MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" #+
AS.D. = “ APPLICABLE TO | MAXMUM ot vl - v APPLICABLE TO | MAXMUM
DESIGN TAPCONS ZAMAC NAILIN, CALK—IN PANELMATES CF TAP—GRIP | SECTIONS £ & | PANEL SIGN TAPCONS ZAMAC NAILIN, CALK~IN SOLID-SET PANELMATES CF TAP—GRIP | SECTIONS # & | PANEL
PRESSURE RED HD._DYNABOLT ANY COMBINATION| LENGTH i RED_HD. DYNABOLT : NY COMBINATION| LENGTH
RATING(p.s.f.) o | 70 n | 710 0 0 70 OF THEM T () RATING (p.5.F.) 70 70 70 (4 o | 0 70 70 70 0 OF THEM " (1)
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE p-s.I. CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY CONCRETE | MASONRY
|
6" - 5"+ | - - 9 1/27| - 4" 1 & 3 (TOP) 5" - 4" ++ - 5" - - | - - 3 - 7 & 3 (TOP)
1" 12* 9 ++ 8" 3" 8" |7 172" 1, g*(gotTOM) 10" 3° g+t | 7 10* 3" 12" ! 12" 77 |6 1/2” |3 172 | 1, 9" (BOTTOM)
11" - g”++ - - - 7 1/2” 2, 9*(rop) 10" - 8" ++ - 10” - 12”7 12* - 6 1/2” - 2, 9%(1oP)
71" 4” g® ++ 8" 3* 8" 7 1/2” 2 (BOTTOM) 10" 3" g° ++ 7" 10" 3" - - 7 6 1/27 |3 1/2"| 2 (BOTTOM)
>+50.0,-55.0| 11* 4" gn++ | g 3" g |7 12" 3 (BOTTOM) >+50.0,-55.0| 10" 3” g ++ | 7 10” 3" - - [ 77 |6 12" |3 1,02*| 3 (sBoTTOM)
i ' — >8"-0" = B 7 1 ! (.
0 1~ - g* ++ - - ~ 7 172" 70 0 10" - 8"+t | - 10" - - - - 6 1/2° - 4 (TOP) 70
+70.0,-80.0 71° 4" g% ++ g 3" 8" 7 1/2" 4 (BOTTOM) | 8'-4" +70.0,-80.0 10* 3° g" ++ 7* 10" 3 - - » 6 1/2" |3 1/2"| 4 (BOTTOM) 9'-8"
. = 5 (TOP/BOTTOM))| . . ' = 5 (TOP,/BOTTOM)
4 - - - - & 1/2 - - | 4 - . - |4 - - - - - = 7 (TOP)
6 - - | - - 81/2"| - - 6* - - - 6" - - - - - - 6 (ToF)
5" - - - - - - 6 (BOTTOM 5" - | - - - - -~ - - - 6 (BOTTOM,
5" - - - - ~ - 7 (BOTTOM) =K Foaly, - - - 4 - - - - - - 7 (BOTTOM)
. oL SRR S :
- - - - - 6" - 8 (roe/sorrom)| S emnf* AN t’g)_ _ - 6" - 10" 127 | - - - | (ror/morrou)|
L . .. L3 3
iy t*??
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID—SET ALLOWED FOR MOUNTING SECTION 9. :,-'en..-‘{,
- g
++ ANCHORS SPACING ONLY VALID FOR ZAMAC NAILIN ANCHORS. ﬁéALTERATILLlT’,J;
oY A ] TEXA F | CE -
*  SEE SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD f e 90691 PN — VANIZEDSBEDEPAARST“::-ENLTJORM’VifNR:N 2018
FRAME BUILDINGS. . ‘ ~ GAL RTH. L M.P
< WALTER A. TILLIT Jr. P.E. (2.25" DEEP) orA B
** MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. PROFESSIONAL ENGINEER -
FOR E. D. LESS THAN 3 1/2°, REDUCE ANCHOR SPACING BY MULTIPLYING SPACINGS SHOWN EASTERN METAL SUPPLY, INC 01/21/2021
ON SCHEDULE BY THE FOLLOWING FACTORS. (MIN. E. D. FOR CALK—IN ANCHORS & ELCO 6355 N.W. 36 STREET, STE. 305 4268 WEST ROADS DRIVE DATE:
PANELMATE IS 2 1/2", AND 3 1/2" FOR SOLID-SET ANCHORS). VIRGINIA GARDENS, FL 33166 WEST PALM BEACH, FL. 33407
FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTING FROM APPLYING ABOVE PHONE (305) 871-1330 FAX (305) 8711531 PHONE: (561)209-8263 21-027
FACTORS SHALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL ANCHORS (EXCEPT +4.5" TEXAS LIC. # 90691 FAX: (561)841-1716
FOR RED HD. DYNABOLT ANCHORS). . REV. o DESCRIPTION DATE T REY. o DESCRIPTION DATE DRAWING No
P.E. SEAL/SIGNATURE/DATE FIRM REGISTRATION # F—-13790 ; : = - SHEET 6 OF 8




T ) "
s ‘{ N MFT _Zo/g ﬂw%G 1§g€%@ & ._2/4’¢ LAG SCREWS ® 6" - 1" x 2" x .72"5. (Min.) Alurn.
o | - et oo fee [ e e e s s o screus o
Ny 70 EXISTING WOOD | 70 EXISTNG WoOD | THREADED PENETRATION R AN
.| | Hewew | HEADER. /' TO EXISTING WOOD HEADER D TN
N Al /s . . / . TO EXISTING WOOD
A\ I\ / 8 : Q [ e HEADER.
J \ I"'l \ / i 7 i 9) g 4 “Q) =Q » g 3
1\ / ; { | w2 /[ 7 58 ht] Q % 2
- , i Q8
.' q‘ ' =¥ . §-L
. T 1
| ‘ || ——(2) cont. ‘ s : ——2) cont ‘ | |
5 E: ) — : )
l ] @ | g : § I » [ %  Cont.
WOOD HEADER ' ‘ WOOD HEADER | 3 WOOD HEADER | — ‘ l @ s
REQUIRED | REQUIRED o REQUIRED , WOOD HEADER | S
Y | & T MMM | = REQUIRED 3
| N 17 miNmuM || 2 - SEPARA - 3 17 MINIMUM |
A 17 N & TION 70— l S i o o
seraraon o | ® SERSTON 1o , S 6LASS | 8 SEPARATION 7O | g
GLASS l g | i :"L"n I =
(=] 7 I o Lh‘]'
| ; . y | ,\s- i - A ; | N
\ L = A | % \ '»—rL < ~r —4 L §
> ~— T g T —T — x A A 5
= ¥ -
ALTERNATIVE ¢ D il g Tl o
. X — e
3 | |34 Boirs wy & £14 x 3/4” | ® - | z
W 7/8" @ x 3/32" . S. M S In] . o
3 | WG nur 67§ l 2 g |} 2 [ X
= EVERY STUD @ = a s ! | $
—)) o | {iz7oc ' | . x
/4" 820 g ‘ ' 1/4” 2-20 x g N I
20 x 3/4° BOLTS W, !
3/4" goLTS w/ | E’ R w7 [ 745- g J/Jé. ‘ |
7/8" @ x 3/32" . AT 2| ' | wive nur @ D
WING NUT @ gl 1> T EVERY STUD g [, B
EVERY STUD @ g I =) | | @ 127 0. C X
l 12" 0. C L‘GJ' ,]I g 1 \ // \ N 1/4" 9-20 x
P4 ﬁl W \ fl \ p Cont. | ' 7/8" ¢ x
‘ A |\ '.H \ M 1/e% 14 screws o 6" | | | %gz@ WiNG
| A LN < oc wro1/27 N, 8 Ae z2em o0 ¢c. |||
27 x4 pLarel ||| TREADED P/ENHRAnON e — (&) Cont At € \ EVERY STUD
/ —(9) cont. 7 ReoureD || b= | MOWIDTH OF PLATE. 4 ' N (1 R @ 127 0. ¢
|\ _ A REQUIRED 4l |1 ,- 1 | \ 1/40 LAG SCREWS © 6"
J \ H by |\ _1/4" LAG SCREWS @ 6" ',.:' b\ O N woop stup ' 1" x 4% x 125" (Min.) "'A‘-\ Mz 0. W1 1/2" MIN
A2 4 piarell ] 0Cw/1 1/27 M. 1M - Ao 2o e Wil = T 6063—T5 Alum. TUBE (Cont.) ; \ i THREADED PENETRATION @
“|° RequireD_ |||} THREADED PENETRATION @ A 1\ ’ \reaurep ~ ||]] %] § . Il | MIDWIDTH OF PLATE.
AT Al moweTH oF pLaT. Y L, VL 1 Al i (2) 1/40 LAG SCREWS @ '
A o\ M : v & | BAcH sTup (MiDwDTH OF STUD,
- b\ . \ 2" Min. NOMINAL) AND W/ 2°
\_ MIN. THREADED PENETRATION
ALTERNATIVE 2 INTO EXISTING STUD.
ALTERNATIVE 4 ALTERNATIVE 5 ALTERNATIVE 6
= A
\ | WALL MOUNTING INSTALLATIONS
B 1" Min. | I
SEPARATION TO | SECTIONS A SCALE : 1/4" = 1"
EXISTING GLASS 1/4" 9-20 x 3747 Nores:
| | sors wy 1. INSTALLATI
) / ) ONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING
| v%vgc 8 x 3/32 UP TO +60.0, —65.0 psf AND PANEL'S LENGTHS UP TO 7'-8" .
WING NUT § 2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
| |Benlsne INSTALLATION DETAILS ON_EXISTING WOOD BUILDINGS File o, 2.4y SPECHIC GENSITY OF 635 O EaUl.
A A
1 <5 OFTE 'y,
A ! iy B e e(,
. SN RS
j . ~ o %, ¢
; \_©Cont. ; i & ., {2
/ 2 N —rrrd * ﬁ TEXAS DEPARTMENT OF INSURANCE - 2018
s o SR OIS A o | ¢
RAR e e screns o 6 NOTE FOR COMBINATION OF SECTIONS: 2 WALTERATI LT, JR; WALTER A. TILLIT Jr. P.E, [?4 GAGE GALVANIZED BERTHA STEEL STORM PANEL MP
T S wii 172" ”5‘069 1 -!“ N, PROFESSIONAL ENGINEER (2.25" DEEP) DRAWN BY:
o ENETRATION © WALL MOUNTING SECTIONS CAN BE COMBINED f 5
\
4 W ll[| .| MOWIDTH OF PLATE. IN ANY WAY TO SUIT ANY INSTALLATION. ‘)?,: 9 S & 6355 N.W. 36 STREET, STE. 305 EASTERN METAL SUPPLY, INC o1/21/2021
1 L\ : % ’90 el fo iR XIE 20 VIRGINIA GARDENS, FL 33166 WEST DAL BEacmn. e DATE:
Lo\ f ?Z e CENS T S 2/ PHONE (305) 871—1530 FAX (305) 871-1531 PHONE: (561 )269_5263‘07
II'Z SS-"ON s o TEXAS LIC. § 90691 FAX: (561)841-1716 21-027
AL TE R NA TI VE 3 111"{\_1\:13: PO ) REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
PE. SEAL/SIGNATURE/DATE FIRM REGISTRATION # F-13790 L - — L = — SHEET 7 OF &
2 = ~ 4 - -




1/4” 8 LAG SCREWS ©

- ey 1/4” 0 LAG SCREWS @ 1/4" 8 LAG SCREWS @
4" 0.C. W/ 1 1/2" Min.
WR&DED/PENET{?AWOI\T — ,-—;"—J?-;—' o o 4°0.C. W/ 1 1/2" Min. A 4" 0.Cc. W/ 1 1/2" Min.
A CONT. TO EXISTING WOOD BEAM. F / / /l'r [ THREADED PENETRATION T 777 T THREADED PENETRATION 17 77 '\',«r T
. — C 07 (OPEN POSITION %) 71\,- X / ,f'l 10 EXISTING WooD BeAM| [/ /] / fl To existivG woop BeaM. L/ /[ /[ ||
TE Y < TF 1/4* ¢—20 ELCO ANy, - " & /X [ N/ |
\ ne . C SN )] 4" x 8" (Min.) EXISTING / [ \/
A>—_ I male/ female __1/4" 8 LAG SCREWS © /A ™ Wwoop BB(wmIgEOUIRED, /SN T4 x 8" (uin.) ExisTING // V] [~ e x o (Min.) EXISTING
: S [~ PANELMATE © 12” 6" 0.C. W/ 1 1/2" Min. - £, - STRUCTURAL ADEQUACY |/ {‘X /o) || WoOD BEAM REQUIRED. /AN L woop s kequirep.
it N oc w1 e : TEL STt e 1y TR | s e TR | e o
f Wy 'y NI
/ ‘ / Min. PENETRATION @--— 7 L%Ag’ggr’”"‘ #ooo BY REGISTERED ENGINEER / /& ," | | BEAM TO BE CERTIFIED 7 BEAM TO BE CERTIFIED
1\ I / ; — I ' OR ARCHITECT PRIOR Vv 4 /| /| BY REGISTERED ENGINEER f / /" / BY REGISTERED ENGINEER
\ I\ | T [ CONT. ! TO SHUTTER INSTALLATION. /! / | OR ARCHITECT PRIOR . /' | OR ARCHITECT PRIOR
\ 71\ i : : a7 |/ /| TO SHUTTER INSTALLATION. 4 !/ /| To SHUTTER insTALLATION,
. i I / /
d /}(_‘. =° ) \.\ ‘ . ! ‘ | 5 @ 7 £l
o : | | e
A/ \ 85 ) ! LY ] j — T T
& i ‘ : @ ;EILZIN:C%ASZDC:,; N | N ‘ !
y g2 | i ! 1ol @ - @
o i : b I:I'AD - : & | HURRICANE CONDITIONS. I ] ] ‘
| | o i I Cont. | Cont.
| WO0D HEADER i 3 | REQUIRED B 1 A | A |
|| REQUIRED | & l. N == == ‘E' | £ woop memsEr | g | S
| » y 1 =
i ! o SEPARATION 704 | 8 | 1/4" 9-20 x —H"I | ® o %Dn‘j}”-wﬂog,’,”ﬁn s . ® g ! N
1 i t GLASS & 13/4" BOLTS W/ . @
! | 5 | g v I I in PENETRATION. | ! 0 ! 2
! @ g I | 3 17/8" x 3/32% | i @ ) Ly ! &
1 | - | | = L WING nUT @ | 5 { | 3 ! | )
! | P E | 3 1120 c. " | = E | = ﬂ | <
I 2 I i I [N | | ]
Vo1 minmum | x I CONT. i N ! ] | W { | 4 ! | ¢
| separanion 1o} [ . I — | x i I ] 2 i o i | =
: CLASS ) 2 ! I s i I x _!: 2 J_.ﬂ, I T 4 i SN N N
. At 4 1 _ : —— A ¢ A g Sk ¢
A g I /1 SRS : I’s E’;A:e%gﬁ’dro .ﬂ ; 4 17 MINIMUM II 4 17 MINIMUM | 3
2 ~ — 1 I o ':SEPARAT/ON 7O~ SEPARATION 70 | o
| g 37 "j,\@& i —— | oouss ! —® g i GLASS I F —1 g | GIASS e @ S
O R = ¢ S | AN : P g : | 3 i i :
1V \ F . s A — I 3 | J -
: | A\ -4 ' i | § 78 x 352 ] 1 § ! : g
! L Hn LT =" 1/4” 8 LAG SCREWS ] ] ! X WING NUT @ h : T H !
| woop 41 |\ \ ® 6”0C W/ 1 1/2" I — 12”7 0. ¢ Y | .
A\ \ ' 1 | A I {2*x 6 A I 12 x 6
: PLATE A TR " Min. THRE.gDED _4_ e . . 1 wooD | wooD
e REQUIRED T | PENETRATION @ | 2" x 6 I Apeck | A peck
L I 72 P MIDWIDTH OF PLATE. WooD DECK ALTERNATE LEG .—
\ ! I |RequireD I RE
] | A\, \ | ONT. Cont. ! /— REQUIRED [ (REQUIRE LOCATION —._  gopy, g _QUIREDI
N i 1 W— (OPEN POSITION *) | ~ —,ﬁ e N ;‘
L' ; i — | —] — —
/ - - _- ;‘ 1 \ -
B :|—— o mwom — A < — = —J-_._J \ = — —
; \ OF PLATE 1 I L/ & R T —\ T e —\ T
h 1/4* 8-20 ELCO _l 1" Min. 1 == e S e _,_<| | " 7 — _-:'“————_____n[
W N f SEPARATION TO I | | N =
(AN \ i male/ female . 1 EXISTING GLASS ! | . - : 1 | . \.. .
woop " PANELMATE © 12 1 Lo @oour ;o) \I/47 9 LAG SCREWS @ | oL/ [ -l \ .
A el \ U o.c W 1 7/8 . = k- 4" 0.C. W/ 1 1/2" Min. p — /4" 9-20 x 7 =1 [E— —;/". €20 x
A reourep | |||+ Min. PENETRATION ~ - i i THREADED PENETRATION £1/4" 8 LAG SCREWS © 3/4" BOLTS W/ oy s EoLTS W/
7/8" x 3/32
g 1 v e T P -/; 7/ X’ 7o e 4" 0.Cc. W/ 1 1/2" Min. 7/8" x 3/32" I = 7/"4 2 LAG SCREW.E @ 7/8" x 3/32
AR {18 o S = A S0 ™ ' THREADED PENETRATION WING NUT © 4" 0.C. W/ 1 1/2" Min.  WING NUT @
; .,L \ I A~ ‘ : . 12" 0. ¢ THREADED  PENETRATION 12" 0. ¢
B N B W —« | ! ALTERNATIVE 1 ALTERNATIVE 2 ALTERNATIVE 3
‘ Al . - A WX\ i
' - i All)\‘ I | : JT
& A - ~
woo A AN\ IF CEILING & FLOOR MOUNTING INSTALLATIONS
N VoA \ |
ALTERNATIVE 7 reaoren ]\ N\ L o
RNl | (OPEN POSITION %) SECTIONS B SCALE : 1/4” = 1”7
VIR

SECTION @ STUD TYP. TOP/BOTTOM  INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS
ALTERNATIVE 8

WALL MOUNTING /NSTALLA TION NOTE FOR COMBINATION OF SECTIONS:

SECTION A scace: 14 = ¢ FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED, INGAYX JWAY O SUIT ANY INSTALLATION.

TEXAS DEPARTMENT OF INSURANCE - 2018

a‘:‘."ﬁ .—'“"'I'."'t, ]
AN 12 ?2‘,2 WALTER A. TILLIT Jr. P.E. [P GAGE GALV‘"'Z(';DZ:ER;:QP)STEEL SIORIPAR e
NOTES: A " x PROFESSIONAL ENGINEER = :
NOTES: % o s '’ .
1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING ;? x5 - 2355 . 381 STreer STE. 308 EASTERN METAL SUPPLY, INC 01/21/2021
UP TO +60.0, —65.0 psf AND PANEL'S LENGTHS UP TO 7'~8" . [ o SOURURROROeI ST T 5 VIRGINIA. GARDENS, L. 33166 WEST PALM BEAGH, FL. 35407 2E
2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN % \WALTER AT“; _‘,, 1 PHONE (305) 8711530 FAX (305) 871-1531 PHONE: (561)209-8263
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. 3‘90691 ) exas Lic. ¢ 50507 FaX: (S61Iott 1716 21-027
7, 0, S ’ REV. No | DESchiPTiON DATE_| REV. Yo DESCRIPTION DATE DRAWING No
3?{,&0;‘-.( 1o gy €O} SPESSEAL/SIGNATURE/DATE | FIRM REGISTRATION # F—13790 ! > -3 - ~—— SHEET & oF &
-e ‘? Tapa® V Pgi
W dsionaL €
IR A DA .



